Math 2
Unit 1 Test Review

Name: \L-t\ll

For each transformation, state the coordinates of the image of the point (1,4) and the general rule for the

image of the point (x, y).

Image of (1, 4) Image of (x,y)
1. Reflect over y-axis (-1 , 1) (-x, Y)
2. Reflect over x-axis C1,-4) (x,-y)
3. Reflectovery = x Cu, 1) (v . X)
4. Reflectovery = —x ("'“,’l) (:\/"_x)
5. Rotate 90° about the origin (4,-1) (y -%)
6. Rotate —90° about the origin (-y | ) (- y ,‘ X )
7. Rotate 180° about the origin (-1, -4) (-%,~Y)

For each of the following, graph and label the image for each transformation described. Then write the rule
for the transformation using correct notation.

8. Reflect over the liney = —x
(4 B (o, %)
('q"&b C o)y )

Rule: (-VY — x)

9. Rotate 180° about the
origin

A B

10. Translate right 4 & down 3

units
A B
D, C

Rule: C‘xg"!)

Rule: (x"""; y-3)

State whether the specified pentagon is mapped to the other pentagon by a reflection, translation, or

rotation

11. Pentagon 1 to Pentagon 3
12. Pentagon 5 to Pentagon 6
13. Pentagon 2 to Pentagon 5
14. Pentagon 1 to Pentagon 2
15. Pentagon 4 to Pentagon 6

Answer each of the following.
16. If translation T:(5,—3) - (—4,0)

17. T:(x,y) = (x =5, y + 2),if F' (7,—6), find F. (1., ~%)

ro¥eXion or ccflection
celleckion or cotadion 1 2
Feans\aXion
cefleckion or rotadion 3 4
cobekion o ccklection

< 5 6

,thenT:(8,2) » (|

S )

18. M is reflected over the y-axis. If M"is (6, —1), find M. _(-t, -
19. Cis rotated about the origin 90°. If C'is (=9,5), find C. _C §,4)
20. Y is rotated about the origin 180°. If the image of Yis (0, -3) find Y. _C0, 3



21. Afigure is reflected over the liney = x. If the preimage is (2, 7), find the image. _(7,%)

22. AABC has vertices A(5,—2), B(—4,0), C(7,1). 23. Draw a regular hexagon ABCDEF.
Find the coordinates of the image of the a. Describe the angle of rotation tha
triangle if it is dilated using the rule: Dy ;. i

Dildion
AL -0, by 3
B(-», 0 ),
cA, 3 )

24. For each problem, there is a composition of motions. Using your algebraic rules, come up with a new rule
after both transformations have taken place.

a. Translate a triangle 5 units left and 3 units up, and then reflect the triangle over the x-axis.

(Y)Y 2(%=S, y+3) (YY) =2 (x,-Y)
Y,

(.x)\l) - ()("S‘, | '3)
b. Rotate a triangle 90 degrees counter clockwise, and then reflect in the line y = x.
XY = (v, x) (X ,¥) =2 (v, %)

o 4

(*,¥) =2 (%, -v)
c. Reflectin the line y = -x, and then translate right 4 units and down 2 units.
(i,\[)—'ﬁ (—\/’_x) (%, ¥) = (X444, y=-2)
N 4
CAN) = (-y 4, -X -2)
25. A function has a domain of —3 < x < 6 and arange of 2 < y < 8. Find the new domain and range after

each of the following transformations:
a. Translate left 2 and down 5

D: -5 & % &Y L:-3 &y 53
b. Reflect over y-axis

D: -b £ x£3 R: N &yct
c. Rotate 90 degrees

D:~% ¢x $-% R:-32yZ20




